Animal Husbandry Department Andhra Pradesh

Notations :
1.Options shown in green color and with % icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Animal Husbandry 31st December 2023 Shift 1

Subject Name : Animal Husbandry

Creation Date : 2023-12-31 13:52:33

Duration : 150

Total Marks : 150

Display Marks: Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No
Animal Husbandry

Group Number : 1

Group Id : 3365719

Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 150

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No

General Studies and mental ability

Section Id : 33657117
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 50

Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 33657117
Question Shuffling Allowed : Yes

Is Section Default? : null
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Correct Marks : 1 Wrong Marks : 0.33

An act of speaking one’s thoughts a loud when by oneself or regardless of any hearers
especially by a character in a play is

Options :

| % Sinecure

, » Soliloquy
3 % Pessimist

_ Philanthropist
4. %
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which among the following is appropriate Phrasal verb for “Loiter Aimlessly™?
Options :

| % Hold up

, » Hang out

; = Keepon

4 = Lay off

Question Number : 3 Question Id : 3365711203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0.33

Identify the Synonym of *‘PIOUS’
Options :
|« Religious



, % Faithless

, » Perfidious

4« Insidious

Question Number : 4 Question Id : 3365711204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0.33
The customary code of polite behavior in particular social groups or social situations is
called as

Options :
| = Attitude

, % EXquisite
3 @ Etquette

, « Audacity
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In the below given four alternatives, select the alternative which best expresses the
meaning of idiom ‘By the skin of your teeth’

Options :
| » Looked surprised

, % Egoist
; « Just barely

~ Abridgement
4, % i
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A brand-new Apple iPhone 14 worth Rs 1.50.000/- was sold by Karthik to Sudheer at
7% profit. Sudheer sold the iPhone back to Karthik at 5% loss. In the entire transaction
between Karthik and Sudheer, Karthik gained

%, 1.50.000/- DEN3S HOE Apple iPhone 142 5705 7% 725068 DO
DEON0TER. DA 5% Sl B0 52055 S JFonowrd. 505
SO0 DA NS BOAD INB0 T BAS . 52085 DOeh eFLINFCR

Options :
| % Rs2475/-

, % Rs 5400/-

s » Rs 6820/

, » Rs 8025/-
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The average of the ages of Raghu, Sridhar and Rajasekhar 1s 54 and the average of the
ages of Raghu. Rajasekhar and Raju i1s 60. If Raju is 66 years old, what is Sridhar’s

age?

BB, BEHE SHOASD T°BFDHE HONNY DHEED 54 SHOAN B, Tr3FNE
0BT Tre3red O DAY 60. T23° DD 66 DO JT N OONE,
358 HONN) DOEH?

Options :
54 years

| x 534 0056 yTrew
52 years

5 x 52 Q0IB TN

48 years

48 D0SEd YT
3.9

42 years

4w 42 Q0D T e
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In a special language “Vishakhapatnam’ is called ‘Eluru’, *Eluru’ is called *Kakinada’.
‘Kakinada’ is called ‘Turupathi’. ‘Tirupathi® is called ‘Ongole’, *Ongole’ is called
‘Nellore” and “Nellore’ is called “YSR Kadapa’, then in which of the following district
Indian Institute of Science Education and Research (IISER) and Indian Institute of
management (IIM) located respectively?

2,8 (B35 27706 'DFDNEIY0'D 'DOTEY, 'DOFE'R) 'SPE Y, 'SET D
'@30NEY, '@ NI 2,0 N, '2,0f 'R TDENPH SHAOI TEXH' YSR
§E8 @9Q) DN, €95))CH RORBCN® AR REITE) €89 V) DS
@08 80 (IISER) DO Q0B0DR VOREITLED &89 a0 D0
(IIM) DI &) 2EFES’ &) 0N?
Options :

Kakinada & Eluru
| s S8 & DO

Ongole & Vishakhapatnam
200D & DF°PNE) O

2. %

Tirupathi & Eluru
3 % @d)g)@ & ;:lﬁ’_ﬁ*’(jj

, »» Ongole & Eluru 2,000 & TP
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Nandini moved 90m in the East in home to look her mother. then she turned right and
went 20m. After this she turned right and after going 30m she reached kitchen, but her
mother was not there. Form there she went 100m to her north and met her mother.
What distance did she moved to meet her mother form the starting point?

HOA 55 SO TIPDOCNE ROE3S” TH)S 90 DEXD EHOOE. e
&3 HOAIHH DOA 20 D OO0, A ST geh HOOR P9 0BT HH
SOR 3000 IDS STTeh HOLHDE THH0H, TR SOOA) ) 08y ¢S
BN, @5 OB SOOD GBB0 I 100 DD I 6 SO
ZeNNZ0R. (B025 DOCHYT €35), S HO EHHTTAE SOD DO
SIS0 IPI0R?



Options :
L 100m

, » 140m
5 = 120m

4 v 240m

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the
correct options are chosen.
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The sum of four consecutive even numbers A. B. C and D is 180. What is the sum of
the set of next four consecutive even numbers?

A, B. C OO D @3 e HHd OO Sosed B[B0 180. 50N
020 AN DB SO EE TNBO DOEH?

Options :

| x 214

2. & 204
3 ® ]_93

4. v 212
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If every Saturday and Sundays are holidays in a 31 days month beginning on Saturday,
then how many working days are there in that month?

FQ7B0 0B (BPB025NTS 31 F2re) TOS (DD FJaG0 OO

SOTED VOHED 0N, € TS DAY N O SOLTON?
Options :
1. % 20

o 21

22

3.8 7
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(3]
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The Annual session of “All India Congress Committee™ in 1923. held at Kakinada. East
Godavari district was presided by

192365 P ITTTH0 2200 280cheS 200D eded 23ded SO S
08 DAFRFVE €9¢358 8 DI HaFroTN?

Options :
C.R. Das

L% 0.0, I

Maulana Mohammad Ali
| o ST 08 e9d)

Raja Gopalachari
3. % O°23 Farerord

Sarojini Naidu

HE22R) POV

4. %
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Consider the following statements

1. Shamsudin Iltutmish was the first sultan of Delhi to issue regular currency and to
declare Delhi as the capital of his empire

2. Shamsudin Iltutmish set up the Iqtadari system which means division of empire

mto Iqtas, which were assigned to the nobles and officers in lieu of salary

Shamsudin Iltutmish introduced the silver tanka and the copper Jital, two basic

coins of sultanate period, with a standard weight of 175gm

b

Which of the above statement is/are correct?
80E 1080 HONBBOHOGB

L e £ 28 T 005D BOD e EFeTE TTREIT
HEE30DS T3 BO TS DONOS RENED.

2. DONAD J[VND ATETO  HEODN DTN DI, 0T
PPATER), [T 0232200, 22650 2CNENTP |DZDHED OO
9HZTOZ) TEFON0DBOE).

175gm (oFre38 209 NPT 20 ¢S DO (DS e,
S0G 05 NOAD T 2BTOOD DONRR QeI HDOBOHO
QB°C.

D DSOS IO HBIE?

Options :
1 & 3 only
o 1&3 7S

(ad

2 & 3 only
o % 2& 3 S5

3 only
. 3PS

3,
All of these

4.\??@;)({);
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Who among the following is the author of book ‘The Indian war of Independence
1857772

&2 (808 TOS ‘® 0BOHS 0 e3P ROGDOTBR,) 1857 Haog Brdoneb
0)od0?
Options :

Rajni Palme Dutt
|, 8B T S

A R Desai
) % 0).e30 DF°AD

Vinayak Damodar Savarkar

- DR*ODNS °35°C0 e .0

Pattabi Sitaramayya

R LAARS R e oy
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The term ‘Delhiwal’ in the medieval history 1s associated with

30800 0SS’ ' BOTS' @9 HEAE BAS 90030 O?

Options :
Coins that were minted in Delhi

) L BOS” S0(BODS T Een

Taxes collected on Agriculture by rulers
o % 2POZ0ED 3§ITPONO R HATED TR D) €N

Ex%ort of Spices, textiles and Indigo from Delhi
s % PO 08 DHOE (GHarsen, SAPeD HOA OGN e

Export of Food grains

4 x B5°0 75O DDsed
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Correct Marks : 1 Wrong Marks : 0.33
Match the following List-I with List-II

Name Visited India during Regin of
1.Huien Tsang [. Deva Rayal
2. Fa-Hien II. Deva Raya II
3. Abdur Razzak 1. Jahangir
4. Thomas Roe IV. Harsha Vardhana
5. Nicolo Conti V. Chandragupta II
1806 2°)& -1 erde-IId DO YOS

2 2rESTER) DN O 506y

D08 0T
1.303 & )0h I DO I
2. SP-or 05T I1. DHTON I
3. @200 G238 I 27000
4. T G IV. 30 58S
5. ES’ 5°0¢3 V. 50850 II
Options :

.« 1-II0, 2-1IV, 3-V, 4-11, 5-1
5 u 1-V, 2-1I1, 3-1V, 4-1, 5-11

- 1-IV, 2-V, 3-1I, 4-III. 5-1

4 % 1-V, 2-L 3-IV, 4-I1L, 5-II
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Which among the following Puranas is considered as a sourcebook of Indian Painting?

8OO HTETOS DO 2rSB0H DSSPI0 BwEy Swred Yo
DOREIOTICRIAOE?

Options :



Vishnudharmottara Purana
v DEVHBISE HOE0

Matsya Purana
- o8 )§ )T°EA0

Agni Purana

L x @) QOO

Markandeya Purana
SFGL0TBORN N)T°EIO
4. %
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Consider the following Events

1. Chittagong Armoury Raid
2. Jallianwala Bagh Massacre
3. First Partition of Bengal

4. Mountbatten Plan

5. Champaran Satyagraha

Which of the following is the correct Chronological sequence of the above Events?
1508 DO DOREFOH0E

1. QLON esB0 B&

2. 2OADRIET 27N IS e

3. 2301 20E3 DB D

4. ST0E 2R T

5. 0GR d&°§ (370

80A 3°¢3¢5 2 DONEIS TBNEY, DB TOESTRT S0 DE?

Options :
| % 2-1-5-4-3
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Which Article of the Indian Constitution has the provisions in respect of Abolition or
creation of legislative councils in the state?

28¢5 TPes0B0S R & e05S T ROS FROD OGS B Bere TP YENE
D000 D220 R &Go&?
Options :
Article 167
|« 08O 167

Article 168
L« S8 168

Article 169
s v S0 169

Article 170
4 % @080 170
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“Dignity in the process of dying is as much a part of the Right to Life. which is
fundamental right guaranteed by Indian Constitution. To deprive an individual of
dignity towards the end of life is to deprive the imndividual of meaningful existence” the
description is appropriately related to which article of Indian Constitution?

“HAYFDD (DEOHES TE0 96 BDOT &S 2.8 2o, A 23des
0% 5000 D AN [TFADE T80y, 8D HB3Sr050S 28 S8
T T390 0T €3 558 90H50HDD GIED §S )50 9

DB 23°Bes T°2Ps0R0T R & e3DESE HANDBOTT HOD0EODIE?
Options :



Article 21
v @088 21

Article 24
)« 08O 24

Article 25
s« 808025

Article 29
4 x 808 29
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Consider the following Statements about “Electoral Bonds®

1. A citizen of India or a body mcorporated in India will be eligible to purchase the
Electoral Bonds

2. Electoral Bonds would be purchased for any value of Rs 1000 maximum up to 1
crore from specified branches of State Bank of India

3. Electoral Bonds would have a life of only 15 days during which it can be used for
making donations only to political parties registered under section 29A of
Representation of People Act 1951.

4. Electoral bonds are donated to a political party which secured not less than 1% of
votes polled in the last general assembly elections.

Which of the above statement is/are correct?

'DOSES 2708 HOOD) & 180 [DEEISOG DOHBOI0S

1. 25558 T B 2rSSTF0S OG0 TAHDGD DOD dOT GBS
20RO Ffe) DONEVE eoldven

2. 6 27505 @3 R0B0IT TBE) AR T NG HOTES 2ro&en
5. 1000 OO (OO 1 §7¢3 SraraNed HSBE FHRen BONHTD,).

3. DOSOO erofe EDS5O0 BHOO0 15 Faren ST GO0, &
DNOHOS” B (D2PEPAIES IO 195165 DES 294 8§08 ST
0723805 OOE SF(H3 DT FTEN Qed STVE DA RO

4. OTES 2arofen e PESE @08 IAYEOS” FBS LS 1%
E0T) 650769 *H0@® SroOS 080 08 DorForr @sd gerchErow.

D DEIDOS IO HBIE?
Options :
1 and 3 only

L 1000 3 PRV TN

L.

1 and 2 only
L« 100050 2 Sr(edad



1, 2 and 3 only
1. 2 S0DB0 3 (A

3. %

All of these
4 v DO

Question Number : 22 Question Id : 3365711222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which among the following is incorrectly paired?

&3 1800 36T DO BT 2eb TODHDBOE?

Options :
Article 48A: Protection of Monuments, places and Objects of national Importance
e30ES 48A: 258 DBV, (DTN NOCH) 2PA0H (FPSnWses NS
- DNy BE €9

Article 44: Uniform Civil Code for Citizens
2308 44: TPHHOZ ONTILTO DO §&

2.8

Article 26: Freedom to Manage religious affairs

. 308D 26: DB $I§ITPT° D DB LTOT WL
Article 46: Promotion of educational &economic interests of SC. ST and other weaker
sections
e308S 46: SC. ST SHOAIM GBS DI HT°E DEo°s & 308 (HAZPT I

4 % [ )aT0TIC0
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Consider the following Statements

1. The President Shall appoint a person who is qualified to be appointed as a Judge of
the Supreme Court as Attorney General of India

2. The duty of Attorney General is to advice the government of India on legal matters
and to perform such other duties of legal characters, as may time to time referred or
assigned by the President

3. In the performance of duties the Attorney general shall have right of audience in all
the courts in the territory of India.

Which of the above Statement is/are Incorrect?

&2 1808 |80 HDONBOH0H

1. O7Ded DDOTE T°50DSPO™ AODHA0IDBEFIE eolded &)
58 e3theh eoerd) 23 IEOT DO

2. @er8) 233O WEY DE HEDTDD VAT 2rSeb |DeNT 508
D& QI 50 DO T QD PO B LN QIO
Q25O DN DG 5 0TICO0.

3. DO ABELTRS @erd) BI3OH 2rdeEd 2rarioS d @)
FHOS FROTDS L) S0LNOO.

2 DFEIOS” DE SN GOE?
Options :
1 & 2 only

a 1 & 2 (e

3 only
3 |5

2. %

2 & 3 only

2 & 3 S| hod

3. %

None of the these

s v SIS T
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Which Article of Indian constitution provide provisions of Right to free Legal service
of accused person who is unable to engage a lawyer and secure legal service?

308 B @edd EeTsed OO TELONTAR o) 0 BNE B
SONIEN CNT) 0NN D588 5D TSN IO &POT aTE0Y 0 S eb
072300065’ &) e30ES 00HN0E?

Options :
Article 39A
o 808 39A

Article 43A
, » ©080 434

Article 46A
s » S08S 46A

Article 51
esO5D 51
4. %
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The *Shakti Vahini vs Union of India (2018) sometimes seen in the news, is related to
which of the following?
FAYTE TES €AD0T 38 T2 vs AHTIADS e85 ROBOT® (2018)
1808 53’ TS HODOHODIE?

Options :
Ram Janmabhoomi-Babri Masjid land title case

07530238 2257°00-23°2) S0RE% 25T S350y, Baw

1. ®

To prevent misuse of SC/ST Act

SC/ST O DO LATFM0 P0G ATEOHETET

2. %



Honour Killing

Lo DY S

Right of members of Transgender community in India

2rBSBF0S D QONSIPOIG D00 DENSE FrE02.ed (16 )

4. %
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Consider the following statements about Lunar Polar Exploration Mission (LUPEX)
1. LUPEX is a collaborative venture between Russian Space Agency (RSA) and ISRO
2. LUPEX Mission investigate the quantity and quality of water on the Mars

3. In LUPEX Mission Russian Space Agency (RSA) and ISRO are developing the
Rover and Lander respectively

Which of the above statement 1s/are incorrect?

oD Ferd DEIVVAN AN (LUPEX) (HO0D) & 1808 (DELSD
DONEF0TI0G%

1. LUPEX @236 350 )P DB, (RSA) 0BG ISRO 0§ 2.8 Hoasnd
A

2. LUPEX DAS @Or3HIBD O3 DOIPD0 DO e §ededd
HOTONOR

3. LUPEX QDA 3A5S ) DB (RSA) 08050 ISRO ST 850
DBO5 €50 €92)5) G TIAII®) Q.

2 (DFEIOS A 8:))?

Options :
1 & 2 only

w1 &2 873D

2 & 3 only
5 % 2& 3 ST



3 only
3 S|

3%
All of these
293,

4.¢ °—
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The first ever genome sequencing of the Jamun tree (Syzygium cumini) was completed
by the researchers of

POV DEY (V2220NO Hrgad) ABNE) 208 (FAD SESNGE o
HOTCHZE Hrd TFHD
Options :
National Research Development Corporation (NRDC). New Delhi
% RO 86, BIODDOE 526 )00 (NRDC). 37550

Forest Research Institute (FRI), Dehradun
e98)a) DOFCIT® DO (FRI). TCATS

2. %

Jawaharlal Nehru Centre for Advanced Scientific Research (INCASR), Bangalore

253°0erS [T VOOD HNO 9@ )B 03NS 6O (INCASR).
. 230095

Indian Institute of Science Education and Research (IISER). Bhopal

R0BONS ASVEITSE D X)) ICSBAS e008& 815 (IISER), &S5°S
4
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Consider the following Statements about “Kavach’
1. Kavach 1s indigenously developed Automatic Train Protection (ATP) system.

2. Kavach aids Loco pilot in train running within specified limits by automatic
application of brakes in case of Loco pilots fails to do so.

3. Kavach help the train to run safely during inclement weather
4. Kavach was adopted as a National ATP system in June 2013

Which of the above statement is/are correct?

"85 HBOW) &2 (SO0A [DEEION HONEFOHO

1. 851 DIBIOM @0HYD TOHDAD e3¢530e35 (B (T8N (ATP)
D§ID.

2. DDA 38 HOMBS” BEND SN SHOF 2.8 IF ST T (B8
SNBSS DNODB €363 (BES HBONBONRO 00 EHS
ST 2550 HFOHHRIEBOE.

3. 1DBEFO FEIB0S BN DBEHOMT SBNTIE 5D DGO
IRTAVela)

4. 27°8 201365° 515 2305 ATP S5O 2 $EB0HR0E
2 (DEOIOS DO DBIE?

Options :
1.2 and 3 only
o 1.2 08080 3 S (gD

1.2 and 4 only

5w 1.2 60005 4 S edad
2.3 and 4 only
2.3 SO 4 (D

3. %

1.23and 4
4 % 1,23 006030 4
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Correct Marks : 1 Wrong Marks : 0.33
Which of the following country Launched Worlds first Methane powered Rocket into
Space?

& 806 73S D TFO 1DD0H0SD INELZNAE DTS TPBED
20588 05 8 (D35 D052

Options :
United States of America

, OTOs 0E ) @D 9O

Europe

2. % d!ll‘?béi)

India

s % 2°0STF0

China

IRk

4.9 =
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Consider the following Statements about “Voice over New Radio” (VoNR)

1. VoNR 1s a 5G technology that enables voice communication services over 5G
networks.

2. VoNR is designed to replace traditional voice services such as 2G. 3G and 4G VoLTE
with more efficient and reliable solution.

3. VoNR uses the same 5G technology that 1s used for data transmission tp provide high
quality voice service with low latency, improved network coverages and enhanced
security features.

Which of the above statement is/are Incorrect?

'DOVD DD Ay DA™ (VoNR) (HO0D & (800 08GO
SlelglnTelnle]e:

1. VONR @38 5G 0OI030 50 P00 R8N0 wded)
(2PO020W 5G ArOSedses.

2. VONR @908 2G. 3G DO 4G VOLTE H0ES JFODEPODH aP00w wede)
TR0 00065 DsNPIOSHTD BN S5s302AS TS DORTLB0
e90NOA.

3. VONR €580),.6 23°50. 00N €957, 8:5D23en DB RS | e
OLETOS @OE TS O TOND WA @OAOWNEVE  Tey
€7 )eNNN OO0 GITAOD 9B 5G P0TeIEeH GHATANO0E.

2 (DEIOES DE BT SOE?
Options :

1& 2 only
| 1&2 0

2 & 3 only
L 283 IS

2.

1 & 3 only
s x 1 &3PS

None of the these
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The first dedicated Indian astronomy mission aimed at studying celestial sources in X-
ray. optical and UV spectral band simultaneously is

DE)-B. @DES HNBA UV YES ersobherds iy Jureredd
DEFHOS e50NS0 TONETAE GDIODS INERNCES e08H S
23 BS30H DAY B MAS DE?
Options :

Landsat
& 5067

Jason-1
2D -1
2. ®

AstroSat
3.9 @L‘@ﬁ?ﬁ

Aura
4. % SOk
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Which of the following Scheme was launched by the Government of Bihar to minimize
school Dropouts?

STEF DL (EFYET O SHOIERE 30 192506550 (80 ¢3¢
2 DHQY |02 0D0E?

Options :
Mission DAKSH
| v o0 DAKSH
Mission VATSALYA
5 % oA VATSALYA

Mission SHAKTI
5 % oA SHAKTI



Mission SAKSHAY
4 % oA SAKSHAY
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Who was named as the Rising Star of the year 2023 in the 53 kg weight category by
United World Wrestling (UWW)?

DT BE HBY TROA (UWW) 53 §e5°0> 20¢5069) DerBoeS” 2023 DO I3
82200 O I DONSAIT§A?

Options :
Sakshi Malik

8 SrOE

Antim Panghal

v A5P0E3D HONS

Sarita Mor

3 x 00 00

Alka Tomar
4 % T &S00
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Consider the following Statement about “Kashi Tamil Sangamam’

1. Kashi Tamil Sangamam 2023 was maugurated by Prime Minister Narendra Modi on
8™ December at Varanasi

2. Kashi Tamil Sangamam is aimed to reaffirm and rediscover the age-old links between
Tamil Nadu and Kashi

3. During the Kashi Tamil Sangamam 2023, Prime Minister used a Real time AT based
translation tool

‘Bhasini’ that live-translated his Hindi speech into Tamil

Which of the above statement is/are correct?

‘53 Y DOHNO”  MHBODD 18O (DEEIHD HBZODOHO

1. 527 Y HOHDN0 2023 BD0DE 8 BTV 1D STOE b
120D OTT.

2. 59 Y DONSN0 ST SNOOIN 577 NS TS HDODOTTEI
DA 300 SOOI 3R EHFTHB0 8 50 DERZH0E

3. 597 S DOKNO 2023 HOBIOM, (DD DO BOHO Bl Al
SOB 2TV O™ NI APOTR)  GIRTAOTH eSO Srod
(DDOTTEY), SNFOS § (D555 0T €9e0IO0TIDEBOE

2 198565 DE DBIE?
Options :

1 & 2 only

1 & 2 S°(edad

1. ®

3 only
o % 3 S

1 & 3 only

1 & 3 S|ebad
3. %

2 & 3 only
L2&3 S|

4.
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Which Country has started the World’s deepest and largest underground laboratory for
the global search for Dark matter?

£y DT (Dark Matter) 30RO FHO 1DDOHOS D e9¢h50¢5 5 B
SDOC 932G Z51I) [DTFHTON o) DFO |2PO0D00E?

Options :
Russia

| % Oars

China
5 ¢ DO

India
s x °0STF0

Germany

L 2305200
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The first-ever Khelo India para games from 10® December, 2023 to 17th December
2023 were held at

10 30025 2023 H0G G025 17, 2023 HSE OLSNGES TS ROBASP
PT° N 8.0 28moN?
Options :
New Delhi
L S5GO

Andhra Pradesh

SO\ ND3

2. %

Haryana
s % QO



Uttar Pradesh
&5 (D3
4. %
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Which State’s Legislative assembly unanimously passed a Bill to increase the quota in
educational institutions and government jobs for Schedule castes, Schedule Tribes,
Extremely Backward Classes (EBCs) and other Backward Classes (OBCs) from 50%
to 65%?

22O oeren, 2BETLO Siie, ee850ed BednFG ¢4Siietden (EBCED)
DO RSO IE22GBS GHedeD (OBCEW) 3708 DTS5 DODED BTN
1225965 § €SSO B3B8 3 50% DO 65% HHE DO eV
) T° 2 BN DE(A50MT e3STOON0E?

Options :

Jharkhand
L x 28308

Uttar Pradesh
lsTepeInt]
2. 8 =

Bihar

Madhya Pradesh

L NRHDTE

4.
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Consider the following Statements regarding Drainage Systems in India

1. when the primary tributaries of river flow parallel to each other and secondary
tributaries join them in right angle, the pattern is known as “Trellis’

2. When the river discharges their water from all directions in a lake or depression the
pattern is known as “Centripetal”

3. The dramage pattern resembling the branches of a tree is known as ‘radial’

Which of the above statement 1s/are correct?

2rESTEOS  (BIE  H§H00H  H00HO0D 180 (DI
Slelptniotnleln

1. SE A& QDS E5dAEN LETTVTEES DATOSBOMT (DedaTn" o
00050 OIBOH BHICHED 73D @02 FoS 1S,
HRATTN (BD R @90 .

2. 3O @) OFO OB 55 eI DB BE® Sr0B50 S DG
D)) €8 HDdTrmradd R0ES NS 90D,

3. TWEY T2 &5 G503 | Boe? Qadirrmrad '0G0HS! e908yd.

2 (D83 DE SBIE?

Options :
1 and 2 only
o 1500080 2 (D

1 and 3 only
Ly 1 D008 3 (3D

2 and 3 only
_ 25000 3 BV TETW

3.

All of these
25
®

4.
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Match the following List-I with List-II

Name of Wild life Sanctuary

Yangoupokpi Wild life Sanctuary

Bhagwan Mahavir Wild life Sanctuary

Great India Bustard Wild Life Sanctuary

Badrama Wild life Sanctuary

Ngengpui Wild life Sanctuary

1806 2SI erde-IIS DO YOG
DI TEN S 9ZI0IOEI SO

L OSrONrE) 3D B9 T2 )0

23R s0PN0 I B FP0H)0

10 R0AAST R0 IO B 320500

L EPATIATSVININT F AV SRS A Tov vl e 1241 e)

5. DONYOD HO§(IENS 033 rdeaso

Options :
” 1-IV. 2-V. 3-1. 4-I1. 5-III

Db L1 =

LS T S

1.

1-III. 2-IV. 3-V. 4-II. 5-1
2. %

3 % 1-V, 2-1, 3-11. 4-1IV, 5-1V

1INV, 2-TIL 3=V 411 5-1
4. 8

Location

I. Maharashtra
II. Odisha
II1. Mizoram
I'V. Manipur

V. Goa

D828 GOO
L 03T o)
II. 2,C%ar
L &G0
IV. S0E3y°0

V. e
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Which of the following are major tributaries of Uttara Pinakini?

180 %6365 &S HTPE TINEY 1967 EDSCNED DN?

Options :

Jayamangali, Kunderu, Sagileru. Chitravati. Papagni and Cheyyeru.

L 200000, 00TA, SABR, V&3, aTari) SHBA5 TIALE.

Jayamangali. Indravathi, Penganga. Chitravathi. Papagni and Cheyyeru.

) » BODDOAY, QOEHE, DOMNON, DFHS. ararh) HOCKD THID.



Kunderu, Sagileru. Penganga, Chitrvathi. Papagni and Pranahita.

. F0DH, HASH, DOHOM, D(dded, aT%ari) DO (aredares.

Kunderu, Sagileru. Penganga, Jayamangali, Papagni and Pranahita.

F0TBA. HASKD, OO0, 2ADD0HR, i), SO (e oy

4. %
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Consider the following statements of Kaas Plateau

1. Kaas Plateau is a Plateau made from Volcanic Rocks in the Chikballapur district of
Karnataka.

2. Kaas Plateau is declared as a UNESCO world heritage site in 2019.
3. Kaas Plateau 1s also known as Kaas Pathar.

Which of the above statement 1s/are incorrect?

5P DGR BEY (80O (HEEIII HOHEBI0H0

1. 50 3BT @f)DG58 FOoe DHOR SOIrDd BT, b
E0) 3565 DE) TR0 2ETS S0H.

2. TR DESF 20195 VDY (DD0TY DS (DTFOT
108305223080,

3. 500 DBZTA TR HBE’ €9 S e90LTdd.
2 [(DEEIOS A DBIE 52607
Options :

1 & 2 only
Lo 1& 237D

2 & 3 only
L x 2&3 3PS

1&3 only
L x 1&3 (€



All of these
Y

4. %
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The ‘Diamond Quadrilateral Project’ is associated with

TBHoh HABOSS |rES' (Diamond Quadrilateral Project) &2 (§08& a%¢3¢S’
TAS e9:0D0H0HDBO?
Options :
Establishment of New ports
o TS DO DT HED

Establishment of High-speed rail network
. I-0)E Bew FEHTY, DS

2.

Development of Airport’s under UDAN scheme
L BT DGO 0 DT (FOITE @9 &

3.

Extension of Road network across the country

4 x O30T B8 T550), DQGe
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The Geographical Registry has officially granted the 4™ Geographical Indication tag

(GI Tag) to the Department of Industries & Commerce, Ladakh and approved it as the
Registered proprietor for

2BRTES B3R wOSTBIOMT 48 RWITOES R0GBAS ¢rsh (G
ErsHN DBFNeD & e TP, OGP DB DV0E B
82200 | DO &2 (0 ¢3S TBA SSFOOD0E?

Options :
Ladakh Pashmina
P DadJ®

1. ®

Raktsey Karpo
, x 080 5°0)



Sea Buckthron

5
s v O[T

Cedrus Deodara
RN (I8 DS

4.
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Under the scheme “YSR Kalyanamastu’ on the occasion of marriage bride belonging to
Schedule Caste and Schedule Tribe communities is provided with a financial assistance
of

AEPEO  Hoered HOCH NGFIO Biie) STOH TOAD HE0HZ0
D%F0 DOLBHOT JdwesD Eo5asad)’  DHE0 180 Doeds 308
DI ANO @ONBHN?

Options :
. » Rs 1,00,000

Rs 1.50.000
2. %

Rs 1.75.000
3. %

+ » Rs2.00.000
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Consider the following Statements

1. Andhra Pradesh is the first state in the country to establish an e-marketing platform
called ‘e-farmarket” to connect the farmers of AP to the traders in the country

2. Andhra Pradesh is the only state in the country which collects farm prices from each
Rythu Bharosa Kendra’s on a daily basis through an application called ‘Continuous
Monitoring of Agriculture Prices and Procurement (CM APP)

Which of the above statement is/are correct?
50O (D8N HONEION0GH

1. 2 DHOD TFOS D a5arHOZ NN0ETES0 TG &-
SPOP S’ @98 &-5r03e300 alPESRTE) DTPIE) B BI0S D
BNEHES TR0 e80|D(DD3.

2. HEATA BN SHOO EGD AT AH0eHS HB5S8.£ (Continuous
Monitoring of Agriculture Prices and Procurement) (CM APP) @5 €905 °50°
(DBTF™ |Hed Bedd SO BOHO0 OB HEHIOD B EBND),
BH0S'Q B8 TR0 S0(HNBT.

23 [DEE50S DA DBIE?
Options :

1 only
| x 10753

2 only
, x 2 S35
Both 1&2
s v 1&2 BOCGY

None of the these

L % DB Y
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Which Scheme of Government of Andhra Pradesh facilitates a working capital loan up
to Rs 10.000 to the eligible poor. small and petty vendors with an intention to make
them financially independent?

SOPDTB (DS & DPE0 @ or 9DNBS DG DAL DD,
T5arOE) es0E Jseb0(d50 EONOTTOT GHAS0S G 10.000 HOZO
QT L5 SPEIR)) BB 00ONOE?

Options :

Jagananna Thodu

- B8y S

Jagananna Chedodu

L x BHO0) BEC

Jagananna Asara

5w B000) esdd

Jagananna Navodayam

4 5 B00) SSeSaDHo
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What is the Diesel Oil Subsidy availed by to the Mechanized & Motorized boat owners
in the State of Andhra Pradesh?

e30(8 1T TA0SD DETE B0 DS S ONBITOH
R3S S0NS DDIB D0 ODNOE?
Options :
Rs 5 per litre
L x O G, 5

Rs 7 per litre
L % O5% &7

Rs 9 per litre
s v OBE &, 9



Rs 11 per litre
DEISE B, 11

4.%
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Which Committee recommended setting up of an Employment Tribunal instead of an
internal complaints committee (ICC) m the sexual harassment at the work place?

HA TR (DDI0S BOAE JHOHOD @088 DO°sched Eanel (1CC)§
22N DOAODIOET (32205550 DT®)EN AT ) eI D)
D0E?
Options :

Gurupadaswamy Committee

-, DSOS E0¢3

Dr PK. Mohanty Committee
, » T80 DI Jndroes E0e3

G.K. Pillai Committee

L 2397 80¢3

Justice J.S. Verma Committee

L v DOV BV, HG EWeE3
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Who was awarded Nobel Peace Prize in 2014 for founding the organization ‘Bachpan
Bachao Andolan’ to fight against child labour and other children’s 1ssues?

2> 5025000 SO0 QBS 20 DN DFTTOLHZ DDDD
DTS SOSTS @ DOV FPNODIONH 20145 SBS FP0e
2300 DIOE ©D0D0E?
Options :

Kailash Satyarthi
v 3era d&§0



ﬁlanta Sinha
F*OdH DN°
2. % -

M.C. Mehta

s % 0.0, DI

Narayana Das
4 % O°O°ODED TP
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Consider the following statements

1. The Global Gender Gap Index was first introduced by the World Economic Forum
ih-1959.

2. The Global Gender Gap Index 2023 ranking of India is 121 out of 146 countries.

3. According to 2023 report India has closed 64.3% of the overall Gender gap but
reached only 36.7% Parity on Economic participation and opportunity.

4. Germany is the most Gender-equal country in the world for the 14™ consecutive year
and stood first out of 146 countries.

Which of the above statement 1s/are incorrect?

150E (DEEIHDD DANFOHOE

1. BS B0d 5% ROTS,) NSO 199965 I3 DEa0E PG
°S0° (D33 DDB0E.

2. 230653340 T3, S Bod 5 ROTS ) 2023 0°5080N 146 BF*e>eS
121.

3. 2023 AROE |D5G0 2rOHDH0 IS0 DOl H§EPsarQ) 64.3%
S0V, @oNe 808 23Ir5eN50 DO 9ITFTO D SISO 36.7%
DIPST L8 D0,

4. 3620 HEDTP 1485 HDOHEBIB0 [DHOTHOES e9¢85EE DoN-Dedrd BFOTT
[0 TS0 S DO
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Options :
1,2 & 3 only
Lx 1,283 37D

1.2 & 4 only
1,2 & 4 S|ebhadd
2.¥ =

1.3 & 4 only

L1384 S

3.

All of these
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Synovial fluid is present in

DENODE 3330 DF)C €0EVOS

Options :
Joints

5%‘{3‘9

1. ¢
Heart
X (DO



Liver

5 » SPSAHAW

Kidney
4 % P OO
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Pneumatic bones are commonly present in

MO dngen & 208 ae3 D0 ArSBL0MP &oeran

Options :
Cattle

| x B
Horse

2. % hgo
Pigs

3 % 20eD

Birds

ey

4.9
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Pepsin is produced in

23S @ &S I F68zi0

Options :
Rumen

G

1. %

Reticulum

. 6&35‘.35@0



Omasum

5 % WoDNO

Abomasum

4 v VDI
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The range of pH of urine of herbivorous animals

FPQILIEE 230 TN Sy .35 &3 Seehe S 00

Options :

| % 3-4
2. % 4-5
3. % >-6

4.v 18
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No. of lobes present in left lung of cow

@959 VLY L3O BHIO ADHOLYL D) BD)eDOErai)

Options :
1. ® 1
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Which of the following is not a solid form of medicine

800 T3¢’ DB FIDTTHY B

Options :
Tablets

| % S0PBED

Capsules

2. ® (‘iJ"?gP_}J

Bolus

BN
® @

Syrup

Question Number : 57 Question Id : 3365711257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is used to control Mange

208 508365 025 @ AADOBOSTOE TLET°HD

Options :
Boric ointment

508 e3000082)0¢5

1. ®

Sulphur ocintment

K}E@S eso:ooéJgoeS

2.

Zinc oxide

. 2305 es8 Jc’i

lodine ointment

9N Coed esomoéagoéﬁ

4. %
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Which of the following is nonsteroidal anti-inflammatory agent

808 °e3S° B PR AFPO0 JTON LSS HTPYD

Options :
Prednisoline

DERFOS

Betamethasone

, 5 DO

Hydrocortisone

3o DRSS

Meloxicam

;33@%?53

4.v
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Which of the following is antidote for cyanide poisoning

206 3306365’ DB HDADTCE DN AHDIHEIH TPCoDOCD

Options :
Sodium carbonate

a AFHAHO ?‘6233&5

Sodium thiosulphate

R5C60DO éﬁﬁﬁﬁ)%éﬁ
2.

Sodium bicarbonate

i} DO QSDBQSES

3.



Sodium chloride

_ R¥Gapo 586

4.
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Which of the following is a diuretic

808 T°E3S° DB JPSHIYIR 20D

Options :
Furosemide

| ARBIDE

1

Mannitol

. 33&’)51@5

Acetazolamide

| NerSodé

3.

All of these
BODD &‘J&J
v
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Temperature of the liquid nitrogen for the storage of semen straws is

HEsTHQKDED QO GOSEAE et (359BBD &aHS Do

Options :

v -196 °c

-290 °c

2. %

-110 °c
®



s B70°c

Question Number : 62 Question Id : 3365711262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The most widely used extender for frozen semen is

DOD0DS S AYBOMT % D), 0666 A&

Options :
Tris

£.
Lo &9

Liquid paraffin
) % 986 DBDS

CUE

s x ALY

lodine

4, % 0WVES

Question Number : 63 Question Id : 3365711263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

First artificial insemination was performed in india at

2BBEF0S HRGHOTP s FyBD HEeeSes 230808

Options :
Mysore

- PRI
Kolkata

L §e}§§ﬂ

Bengaluru

| BOHLED



Izzatnagar

. Q2Pd 16

Question Number : 64 Question Id : 3365711264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
First scientific artificial insemination was performed by

DD FJAD §yB HEEPEEd QBEPODS TP DS

Options :
Lazzaro spallanzani

©2p8 X)er02d
L

Ivanoff

QIPT°E)

Sampath Kumaran

0B DTS

3. %

None of these

$5865° N P

4. %

Question Number : 65 Question Id : 3365711265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The semen straws are sterilised by

SN TS0 EQBarsdo Satn Sgeso

Options :
Autoclave

09658

1. %

Chemicals

, x ORPADITED



Hot air oven

. 33565 dawd 2.3

3.
UV rays
ofrd SYraren

4.

Question Number : 66 Question Id : 3365711266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is an anti-inflammatory agent

&3 308 365’ DO ) ABGEo

Options :
Atropine

, DS

1.

Meloxicam

;ibe_ru%?oﬁj
L4

2. %
Alum

s % ION

Ranitidine

_ RBAS

Question Number : 67 Question Id : 3365711267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Commonly used absorbable suture material is

PaPQ) HEPED 58 36806 ¥OD Tro AB
Options :

Silk
faef&



Nylon
Jer°d

2. ®

Catgut
. desies

Fascia lata

|« DNOI® erer

Question Number : 68 Question Id : 3365711268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is used to induce epidural anaesthesia in cows

83 $00 T30S BAD DY ANTFBES sV V3)0HH GITRAFD
Options :
Thiopentone

| BTPDOES'S

Morphine
o 3OS

Lignocaine

- é)fﬁgrs

Propofol

Question Number : 69 Question Id : 3365711269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The classical example for closed wound is

SI°R) €0 MPOIPE Grrsrde

Options :



Contusion

J E08PDS

1.

Lacerated wound

. ern0e& PaHAD

2.

Penetrating wound

_ d38e306 mrap

3.

Incised wound

QA3 “}é PO
®

4.

Question Number : 70 Question Id : 3365711270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
An abnormal cavity containing pus is called as

308506 SIS Q0GRS WIEPDE HEesh 0P

Options :
Abscess

F.
v ?3%(\]

Hematoma

§ PSS e

2.
Cyst

413
3.8 0 ®

Tumor

éngé}S
4, %

Question Number : 71 Question Id : 3365711271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



The vaccine strain not used for vaccinating broilers is

2ra0eb SHS 9S538080 e IO

Options :
Lasota virus

ORE) JBQ

1. %

IBD virus

2006 JBQ

2.8

R2B virus
9622 JBQ

3.

All of these
B Q)

4.%

Question Number : 72 Question Id : 3365711272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The live attenuated vaccine for fowl cholera was introduced by

S 50070 BS A% B0 HIINEIS TYIP

Options :
Louis pasteur

PR @@5

1. ¥

Robert koch
206 TS
5 (-]

2.

Joseph lister

S0 OH6
3. ® [:§]

Alexander fleming

e9BP0ced DA0AH
4. % & ~



Question Number : 73 Question Id : 3365711273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The primary purpose of vaccinating animals is

HHHOB e3sren o) FPHME OF [

Options :
Prevention of infectious diseases

€908 aﬁ'zgcﬁja Qe
1.¢

Prevention of non infectious diseases

QOE0ID TR AT Bed

Increase the production

BB DODE
3. %

To treat the animals

HHPHe DBy 90

Question Number : 74 Question Id : 3365711274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The type of vaccine commonly used for control of foot and mouth disease
IS

POD0LD 2R ABHOSEAS G0 a°ts ¢35° S¥w

Options :
Inactivated vaccine

w836 S

1.

Live vaccine

S &Jz

2. %



Recombinant vaccine

- 8500D)J0es e3se

Subunit vaccine

HeSanreaes edse

4. %

Question Number : 75 Question Id : 3365711275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following vaccine needs to be handled carefully to avoid
infection to vaccinator

00 Te3S” & ¢35 SPR)F08 HOEWOSDOT 2P HSaP0Td

Options :
FMD vaccine

.« FMD &3

ET vaccine

, « ET &0

HS vaccine

.« HS &8s

Brucella vaccine

20Per 35
4.

Question Number : 76 Question Id : 3365711276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Percentage of sodium chloride present in normal saline is

S 2BS & Asdano EJ& B0

Options :

L« 0.4

0.6

2. %



3, % UT
, v 0.9

Question Number : 77 Question Id : 3365711277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is used in titration

83 300 sre3S’ BOQ LBOAS O FcbTh

Options :
Burette

ngaes

Pipette

ALY

2. % o
Syringe

5 » 06023

Centrifuge tube
2033525 Figyain

Question Number : 78 Question Id : 3365711278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Serum can be sterilised by

B0 BB DAL AP0

Options :
Autoclaving

| ©9¢858000

Hot air



Filtration

DOBHS

3.¢
Boiling
. 232008 0h

4.

Question Number : 79 Question Id : 3365711279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Presence of albumin in urine is an indication of malfunctioning of following
organ

@50’ 3N\ S €0¢e10 ¥ S0O 680 T, DD
RPAPOR
Options :

Kidney
. I°€83)0Cos1)
1. =

Heart
2. & ﬁJO&

Lung

&300BDO
3 & -0

Brain

Question Number : 80 Question Id : 3365711280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The vein used for collection of blood in cows is

295’ 8% DEBED a6 NG

Options :
Jugular

- 23tHeb



Femoral

., d08

Cephalic
4 % PO

Question Number : 81 Question Id : 3365711281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Temperature and time used to sterilise glassware in hot air oven

355¢5 Qa6 2,638 S0 P23 PFen JOBHNS B &NTrHo3
SRS HOA S

Options :
160 °c for 60 minutes

|« 160 °c 60 Qdw)wen

160 °c for 45 minutes

, » 160 °c 45 QadnNsdwew

160 °c for 30 minutes

- 160 °c 30 QawNen

160 °c for 15 minutes

4 % 160 °c 15 Qadnsdwen

Question Number : 82 Question Id : 3365711282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Chemical used for preserving the serum is

B0 Densd Jatnerd) TP BPAHHSA

Options :



Merthiolate
SJQEJ“E?ES

1. ¢
Heparin

) SPTOS

Oxalates

o5

Formaldehyde
o) TRyt
%® o 6—

4,

Question Number : 83 Question Id : 3365711283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Mac Conkey media is used for detection of

%3 308 ¢3S’ B HY0IERAS HE 5708 SO Fh2 0B

Options :

E. Coli
L, 2. 89

Bacillus anthracis
2PV FOT°RR
2. %

Streptococci

93

3.8 @
Clostridium sp
5PR9C0DHO 2e

. 33 - EA}

4

Question Number : 84 Question Id : 3365711284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Staining method used for blood smear examination for detection of bacillus
anthracis is

26 )ADHE HEF TP 2PAYA BOTPAR Q HYOITAS T°C JANA0H
DB
@]
Options :
Grams stain

L Tigons

Acid fast stain
9, F.
. APAG B°Q AV

Spore stain

. 3335 FéJJerS

Polychrome methylene blue stain

POED WHOS 2 HawS

4.

Question Number : 85 Question Id : 3365711285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Serological test commonly used for screening ranikhet (new castle) disease

B & 598 10 QB PGPS0 % DGerasges HOY

Options :
Haemagglutination inhibition test

Srsrih 3308 agNAS 1Y

1.

Haemagglutination test

5

Srsrtp, BIAS 8%

2. ®

PCR test
, » PCR 8%



AGPT

Question Number : 86 Question Id : 3365711286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is the small size cattle breed
D) HOLITEF0 1) €95y 2D ATa)

Options :
Deoni

| x Go03PD

Hallikar
POEE

2. ®

Malvi
a‘xPeﬂng

3.8
Punganur

4 v S)OHETE

Question Number : 87 Question Id : 3365711287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which exotic cattle breed is commonly used for cross breeding of non
descriptor cattle in poor feed and fodder resource areas of Andhra Pradesh

IOPNEE & BEYH D SIHEDR) 0T ) ABE 2B HHYOS B
DHDDNOX DOZBHDHEW

Options :
Holstein friesian

SFSDANS DHAHS
#® w =

1.



Jersey

=6

2. %
Brown swiss

B E
. Z°S AR

Red dane
, » & BS

Question Number : 88 Question Id : 3365711288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

What is the optimum service period in a crossbred cow for profitable
dairying

ePgIES Bl HOFN HOEY 2 Pl HHNS’ HO( HOAHE N0
G0Te)

Options :
1 month

1.83152}

3 months

) v 3 JOeD

6 months

5 % 6 OO

9 months

L x 9 SO

Question Number : 89 Question Id : 3365711289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Test used to detect starch adulteration in milk

QS £§ Sabds Hod Hrrgswed hHfoserd Saf H63

Options :



lodine test

| OTRES 564

Hotis test
SFe3Q R
® [:¥]

2.

Strip cup test

295 €8 6%
38 & ak

Alcohol test
€9))335¢5 HOZ
®

4,

Question Number : 90 Question Id : 3365711290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The time and temperature used in HTST pasteurisation

3PS 3aDR €3 PDIFEAS S V0 S DAL $55 GO
Options :
63 °c for 15 seconds

63 °c 15 AED

1. %

72 °c for 15 seconds

L o 72°¢ 15 25D

92 °c for 30 seconds

92 °c 30 DE

3. %

100 °c for 15 seconds

100 °c 15 Q%D
4. % "'

Question Number : 91 Question Id : 3365711291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Central sheep and wool research institute is located at

So&ah figen nHdAtH €5) HOFEN 505550 Y &)B
Options :
Avikanagar

952506

1. ¥

Karnal

. §U‘3e§

Hissar

2rRm5

3.

Delhi
&9

4. %

Question Number : 92 Question Id : 3365711292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What is the average weaning weight of lambs of nellore breed

S 22 (0 OO TR H06 W) Dods
Options :

6 kg
| = 6 85°en
8 kg
L 885

12 kg
Lo 12 2e5’en

16 kg
. 16 25w

4.



Question Number : 93 Question Id : 3365711293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ideal market weight of pigs at slaughter

HOLOX) IE0T DDADOS” S0LESIOND 22H)

Note: For this question, discrepancy is found in question/answer.

So,this question is ignored for all candidates.
Options :

40-50 kg
40-50 2e5en

60-70 kg
, 60-70 &e5°ep

80-90 kg
| 80-90 2eSen

120-130 kg
, 120-130 8'en

Question Number : 94 Question Id : 3365711294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The common method of identification of sheep and goat is

g sHBan HEed Jrgedeaon HYol Slale

Options :
Hot iron branding

i S AW Saneo

1.
Tattooing
HB)ESED

2. % =)

Chemical branding

| BRPADD e



Ear tags
4 o B hen

Question Number : 95 Question Id : 3365711295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The following is the major lambing season in sheep reared in hot climatic

Z0Nnes

36 rEr8ea0 & 207 Hien NN ¥aS P20
Options :

Spring

| % Q0B 50

Summer

5 % B OO

Rainy season

DTS 0
3 #® (]

Winter season

v B89°5°)0

Question Number : 96 Question Id : 3365711296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following farming system contributes more than 50% of
receipts as a single source

s S0 008 AGPI0S” ) TGE 50 B0 08 VXN 2.8 2.8
e953°0 80P ODOD

Options :
Mixed farming

. Z\G a°0)0h



Specialised farming

Q1B F)0H
L, RRZF Y

Diversified farming

225096 Frojoh

3. %

Arable farming

. 0982065 @vﬁgoﬁ

4,

Question Number : 97 Question Id : 3365711297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

The farming system which can prevent a total financial loss even though
one or two enterprises fail is

QD SgdPaDH DGPH0S’ 2,563 T B0tk 0T 19D N0 IAVFP RFY
505 é;’.mqo Qa*B0ci200eD0E

Options :
Mixed farming

a &’D%& @ﬂﬁgoﬁ

Specialised farming

., APZ 06

Diversified farming

., @302E argph

Arable farming

, « 082S r9)0h

Question Number : 98 Question Id : 3365711298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33



The practice of grazing animals on public land is called

HDE 25rnes’ DHSHED HD AGFH0

Options :
Cooperative farming

_ 53638 2°0)06

1.

Ranching
- °Q)0h

State farming

e e5 aB)oh

Collective farming

| 5988 3°0)06

4.

Question Number : 99 Question Id : 3365711299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The advantage of integrated farming is

208338& a78)0h S0 $DT ergisn

Options :
Increased profitability

&)E{J&é e3°230
1. ®

Effective utilisation of byproducts
ﬁ;ejg)e‘_%mu QDY S0S0orP s3°EEeI0
D
2. 8
Effective recycling of waste material
5P DY B202880h
3% D0 ® o
All of these

) BODN 3Q)

4. ¢



Question Number : 100 Question Id : 3365711300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Co-operative diary system has been very successful in following state

0 DY 5 &z S0O m@goé‘ R9¢570¢) DADOBOT® AICIYPA)E

Options :
Tamil nadu

, ST

Odisha

5 % 2oCoT®

Karnataka

ORI
3.8 8

Guijarat

\ v )230°e9

Question Number : 101 Question Id : 3365711301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Kjeldal method is used for the estimation of

BGPS HYSBD AP0 B DS AGeOH
Options :

Crude fiber
& D206
1. % = =

Crude protein

& 5638
2. =

Ether extract

RSB0 SEmas

3. %



Question Number : 102 Question Id : 3365711302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Trifolium alexandrinum is the scientific name of

D HHIPRHED T, PRODH AP BFOAD0 9TH0&HNO
Options :
Lucerne

L ED"-‘K}(SJ

Berseem

v zaféjo

Cowpea

2900
3, ®

Sun hemp
5923, 00D
4.% 7@

Question Number : 103 Question Id : 3365711303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What is the moisture per cent present in hay

DO e85’ N0 FH0 B &0LNOD
Options :

| »15-18
, % 20-25
, »26-30

4. % 31 -35



Question Number : 104 Question Id : 3365711304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which fodder is more suitable for silage making

SAPtDER/aXSE (it SaPrd SADTPAS 9DEPOIS HHTN0 A&

Options :
Lucerne

a ardd)

Cowpea

5 % 900

Hybrid napier
. D& IDans

3
Maize
ININISPAPN]

AR

4.

Question Number : 105 Question Id : 3365711305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

How much concentrate mixture is given for every one litre of cow milk over
and above the maintenance

300 258 9e5IAM 3D DB Dt e eh) 8§ Does WIS B
*aav£®

Options :

0.4 kg
| v 0.4 &5°en

1.0 kg

1.5 kg



2.0 kg
. % 2.0 8%

Question Number : 106 Question Id : 3365711306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Place of origin of alsatian dog is

93623230535 2D D) zdég“%)@o

Options :
Germany

v ajtié&‘)

England

, » Q00&

USA
v OD0.R.D

France

RN

4. %

Question Number : 107 Question Id : 3365711307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is an example for small size dog breed

800 eI’ BE D2 o DY) 2P
Options :
Boxer

33"%5

l.

Bull dog
2065 &

2. ®



Dalmatian

L wéﬁgizo‘j}(@

Question Number : 108 Question Id : 3365711308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What is the national animal of India

2°EBEF 23°e3aD 230e0Y)
Options :

Elephant
L% QDM

Lion

, % NOSFO

Tiger
3.¢ VO

Cheetah
DHed

4. %

Question Number : 109 Question Id : 3365711309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ideal temperature for thawing of meat and meat based products for feeding

of zoo animals is
25° 23020)69)® e35T5BD0NA AP0 sDOALD AP0 es5edes &éé}é_%.‘)e} eoanoh
€ &BDS &@ﬁﬁoﬁ

Options :

18-22 °c
1. %



, w46 °C
|, 25-30°c

, . 10-14 %

Question Number : 110 Question Id : 3365711310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The artery used for recording pulse in dog is

YOS Tk HOF DAL GITPB0D G DB
Options :
Femoral artery

ENISLe I N AN

1.
Maxillary artery
éf%a)ﬁi G
®

2.

Coccygeal artery
| o SYHRODES

Brachial artery

Question Number : 111 Question Id : 3365711311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In artificial incubation when the eggs are transferred from setter to hatcher

£ DO FPBA0TOR)E HED DEE H0G 536 D Yt APHPD

Options :

7th day
LTS ez



10t day
1085 Bes
2. ®

15th day
. 158 Bas

18th day
s v 188 Ba

Question Number : 112 Question Id : 3365711312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The minimum number of turnings required in setter per day

(00 PN aboBoes” T 1ehND Bastd 590 QY Saxr)d

Options :

6-8
1.

L« 16-18

24-34

3.8

No turnings are required

9XeD BR)RINIIB0 &3¢
4. %

Question Number : 113 Question Id : 3365711313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Hatching eggs can be better stored up to

POREGE FOOR WD 0B HBL A &0cIHD)

Options :
1 week

l.\_?javéo



1 month

1 3@
2. %

1 year

1 a’aoajo%ﬁo
3. %

15 days

15 Besen
4 %

Question Number : 114 Question Id : 3365711314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Turning of the eggs should be done during the incubation period in chicken

T¢) & R00HAS HOAHE & 1D DY) B

Options :
Last three days only

| DO ek Basen Srgsad

First three days only
| Swesed s Basen srgad

2.
1-18 days

1-18 Bazen
3. %

1-21 days

1-21 Basen
4. %

Question Number : 115 Question Id : 3365711315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The percentage of CO2 in an egg incubator for achieving optimum hat
hatchability

Db ROHFET YD HSDDE3 TI0 CO2 F°B0 N0 &0

Options :



0.3-0.5
1.+

L. 0.6-1.0

1.5-2.0

3. %

L% 2.5-3.0

Question Number : 116 Question Id : 3365711316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is more prolific meat animal

&3 S00 ¢35 DB XS DYy HE0O

Options :

Sheep
1. * ﬁQP_D

Goat
2. ® 3J§

Rabbit
v $083en

Buffalo
a3

4.%

Question Number : 117 Question Id : 3365711317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

What is the freezing temperature used for preserving pork for long period

D 9206 SEHS &S D) S0 HOB HAPOV0 AEDSTAD IO
Options :

8-10 °c
1. #



2. %
3 % -5 °¢c
4 18 °c

Question Number : 118 Question Id : 3365711318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In the slaughter house the gradient of the floor should be

P06 S0 & 66 BaDH0ES S S0 DGO &0En0d

Options :
5cm/metre

| % Bem/doerd

2cm/metre

2cm/Hers
2.

4cm/metre

5 = 4em/érd

0.5cm/mtre

4 % 0.5 20.80/8b

Question Number : 119 Question Id : 3365711319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Dressing percentage is highest in

SPORPB)B TS0 DS’ 9BRT0
Options :
Cattle

1. ® c;)CéJ



Pig
5 » 208

Sheep
i,

3. %
Goat
4% ¥

Question Number : 120 Question Id : 3365711320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The shelf life of canned meat products is

SS 0RO AG) PO A0

Options :
6 months

| % 6 Joe

One year

2.8 r‘boéé;)m

Two years

doc Kaoeﬁ:zg\)coeu

3.9

Four years

~aeenth Kaoaf):::f{}men
4. %

Question Number : 121 Question Id : 3365711321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The test used to diagnose mastitis in cattle

HDHHOS AP AT eHTr0 H6Y

Options :



Ascoli's test

- 399 @.Jr:g

CMT test

CMT &g
2.

Rothera's test

s BT BY

Milk ring test
06 806 1Y

Question Number : 122 Question Id : 3365711322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Ranikhet disease in birds is manifested by
SYS” P3PS a0 O DPBNTP 580D

Options :
Gastrointestinal signs

2584 @geasiven
1. %

Nervous signs

RABANOB NDODOHO0DA FEIAVED

2.8
Respiratory signs

(R B V0DOHODY VFEIVED
3.8

All of these
B3OS 53&’)4

4.v

Question Number : 123 Question Id : 3365711323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Amphostomiasis in buffaloes is controlled by

(B0 30DEDATPID ) DS A0S Se8))

Options :
Good nutrition

00N TPEIe
1. ® &

Proper hygiene

., 20T HODHZIS

Control of snails

- A8 (HYO® D da°Tes

None of these

. $5865° DO P

Question Number : 124 Question Id : 3365711324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
If the disease retains for longer time in an area affecting more number of
animals

28 AFIBIP0B0E” D&Y Baseneroar %) th HHDHOKR)08 SOB0D
SRANY DDOEPH

Options :
Epizootic

. Dzmeds

Panzootic

| gress

2.
Sporadic
. R%o°ceS



Endemic

o N0

Question Number : 125 Question Id : 3365711325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Optimum age for vaccination in calves against brucellosis

SRS RISV § eJse SahHrros DFS HaHR)

Options :
4-6 months

4-6 J3@en
1. ¢

4-6 days
4-6 Bazen
2. 8

above 1 year

1 a’.}oaﬁe:’i)éo To SRl

3.8

Above 2 years

4 % 2 NOJHBT°® Shayeed

Question Number : 126 Question Id : 3365711326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The accumulation of fluid in the peritoneal cavity is termed as

2OETAADE HIPFOS’ (3350 BETR) DDA WO

Options :
Hydroamnion

3t e30)afeS
1. % 8—

Ascites

D &3
v &

2.



Hydrothorax
> Bof)

3. %

Edema

e

4. %

Question Number : 127 Question Id : 3365711327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Feeding of excess proteins to Ruminants causes

BP0 & SLP0REHEDED EEANMP QI(EI0 IR &3 DR IPOR

Options :
Alkaine indigestion

v 8 9280

Acid indigestion

, @ 9230

2.
Gastritis
R 5635
Vagus indigestion

IR €920
4. % e

Question Number : 128 Question Id : 3365711328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is not used in lactic acidosis in cattle

HHPOS 8 IVEIR & $08 T3S DB GHTIPA0SEREE)

Options :
Sodium bicarbonate

RPCaDo BseB)Ies

1. %



Ringers lactate

- B0115) er5es

Vinegar

5 v 30

Magnesium hydroxide

Question Number : 129 Question Id : 3365711329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following enzyme is elevated in Downer cow syndrome

36 T D0ED 08 5783’ O VOB dHDHEOE

Options :
Creatine phosphokinase

8THES FRYIID
'

I.
Tryptophan
, SgrS

2.

Lipase

S, F,

Creatinine

, « 30D

Question Number : 130 Question Id : 3365711330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Fascioliosis in cattle causes which type of jaundice

HHHOS” YD) BOK HOF & SEDHD PDHY SK0d

Options :



Obstructive
L €92)) 95

Hemolytic
Sr3reess

2.8

Toxic

Lot

None of these

4 % DS DO 526D

Question Number : 131 Question Id : 3365711331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Site of recording pulse in dogs

YOS HE) DYt 05 DD

Options :
External maxillary artery

) LGS Srdwd esyd

1. ®

Middle coccygeal artery
. DS s8j8ane esgd

2.

Femoral artery

PIrES esgo

3.¢
Jugular vein
23tDerPd HS

4. %

Question Number : 132 Question Id : 3365711332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



One of the following is not administered through rectum

208 are3eS 2,883 HBRET0 TO(O° RS
Options :
Ecbolic

o, YO8

Suppository
, x QBB

Enema

3, % &J(ﬂm

All of these
BODJ 3Q)

4. %

Question Number : 133 Question Id : 3365711333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

The type of fever where there is rise and fall of temperature by more than 2°
F at short and irregular intervals

2 ° RS areS 570 3086 S 208 6 Agrde YL JEER D

Options :

Transient fever

¢S 0es HI6

l.

Recurrent fever

B%B0eS 956
2. %

Intermittent fever

L« QOEB)RI0ES DG



Remittent fever

BBS DN
4.9 e

Question Number : 134 Question Id : 3365711334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
For the examination of skin scrapings which of the following is required

S 9206 e H% TI0 $0B TS DB S5IB0

Options :
Heparin

|« 3PS

Hydrochloric acid

38 T08 aIrd&

2. %

Potassium hydroxide

5P ADO0 IS \&
Q. Q.J

3.

Potassium dichromate

4 » DoerQAD0 B TDes

Question Number : 135 Question Id : 3365711335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Paste consisting of the drug mixed with either honey/jaggery and
administered orally in large animals is called

S0 @ B T BI 5O 3 TRO° DY PP V(TR DeDOETH

Options :
Pessary
. a)ngp

Bolus

2. & 255@5



Electuary
&@Qé

3.

Drench

GoOS

Question Number : 136 Question Id : 3365711336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Duration of oestrous period in buffaloes in hours

AP0 AR SOk ) Horen €0enod

Options :

L, 612
, % 12-18

24-36
3.¢

36-48

4. %

Question Number : 137 Question Id : 3365711337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match the animals with their delivery process

230286900 DOATD €9 H33 NI0D & 235DTS306G%.

Options :

Cow-Kidding, Sheep-Whelping, Goat-Lambing, Dog-Calving
_ @-8606h, B3-39)0h, D3-er0D0h, 0¥-5°00h

1.
Cow-Lambing, Sheep-Kidding, Goat-Whelping, Dog-Calving
9s-er0Doh, fig-8406, D5-I)0h, HF)-°a0hH



Cow-Calving, Sheep-Lambing, Goat-Kidding, Dog-Whelping
s » BD-5°006, H3-er0D0h, DF-E&0h, 03)-39)0H

Cow-Calving, Sheep-Kidding, Goat-Lambing, Dog-Whelping
e95)-5°00, H3-8G06, DE-er0D0h, $3%)-39)0h

Question Number : 138 Question Id : 3365711338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Fremitus can be observed during __days in diagnosis of pregnancy in
cattle

HDHOS” 58) APTed Sy HHADOS” PO @ __Bae cirdkes
5303

Options :

1. ® 30
, » 40-50
, % 70-80

4,120

Question Number : 139 Question Id : 3365711339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

What is the presence of pus in the uterus called?

HoREADOeS” 30 D06 BOtLIRD A DeVFPH

Options :
Endometritis

aoaaaggesfa

1. %

Abscess

. 935-‘3:)1\3

2.



Repeat breeder
095 Hesd
3. %

Pyometra

N 0IPDER
4. jace

Question Number : 140 Question Id : 3365711340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Falling out of any part of the womb of pregnant cattle either before or after
calving is called as

ﬁc‘jqu‘g DHY) BaH¥ 0L R, BdD B0°(E P ﬁc‘jzg)o D) DR° 2050
200De3s TSR DD DD

Options :
Peri metritis

38 DB

1. ®

Pyometra

DT e

2. %

Prolapse

erd)

Involution

'ascsauﬁegairs

Question Number : 141 Question Id : 3365711341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match the animals with their respective blood collection sites

2080 ok 650 DEB0T NBOXD) 2BDBN0C.

Options :



Cow-Wing vein, Canine-Anterior vena cava, Pig-Jugular vein, Chicken-
Cephalic vein

2959)-006 S, %8)-e30¢300H6 Sesear, Hod-2herd S, Th-2POE S

Cow-Jugular vein Canine-Cephalic vein, Pig-Anterior vena cava, Chicken-
Wing vein,

2 v 35)-25tDer8 S, $8)-IPOE HS, HoB-e30¢300H6 Harsear, SG-00h S
Cow-Cephalic vein Canine-Jugular vein, Pig-Anterior vena cava, Chicken-
Wing vein,

2359)-2O8 S, D¥)-2sthHerd S, Hod-e50e30aHE rsear, Th-D08 S

3. %

Cow-Jugular vein Canine-Cephalic vein, Pig-Wing vein, Chicken-Anterior
vena cava

_ 83y-25therd 88, H¥)-270E &8, H0B-006 I, €& -0906300H6 Haeseare

4.

Question Number : 142 Question Id : 3365711342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The test used to diagnose Brucellosis disease is

2APAY DO TR APPDoHED Baby HOF
Options :
Coombs test

§J‘°OE’,§) éagf.;
®

l.
Milk ring test
065 806 1Y

2. %

Rose Bengal plate test

BeS ZorreS H¢5

3. %

All of these
5
v B 5@4



Question Number : 143 Question Id : 3365711343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Instrument used for preparation of histopathological sections is

PRGBS D) SATDH®H GHTrH0H H05T0
Options :
Microscope

| DER9D

Centrifuge
., 0e33yres

Microtome

None of these

S5665° DA D

4.%

Question Number : 144 Question Id : 3365711344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following test methods is used in diagnosing Microfilaria in
blood sample?

83 Srre T PBOALED (Microfilaria) H8§05 HSS.

Options :
Lane method

L, 88038
. @

Willies flotation method

DO FRAS HEHS

2. ®



Hematocrit method

2PES DD

3.

, » Both 1&2

Question Number : 145 Question Id : 3365711345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The postmortem sample collected during abortion is

Ba0¢k B5oeS” FL0STY0 0N T DA DEOFPED

Options :

Blood
d_SDo

1. ®
Milk

5 % aJPeD)

Serum

5D
®

3.

Fetus

2
4 v N0C0

Question Number : 146 Question Id : 3365711346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The state that produces highest number of eggs in India

2P EBTE0 N0 D) DD SB)B B Tox90

Options :
Telangana

300D
1. %



Andhra Pradesh
Zlolntlnl]

2.

Tamil Nadu
. S FPCL)

3.

Kerala

SEY

4. %

Question Number : 147 Question Id : 3365711347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Floor space required usually per hen for raising layer hens in deep litter
system

G BE0Tr (b &5 5)%5@6‘ Fanb TEy) 20HeD 2 TGS SIS Jo

N0

@

Options :

| x 18q.ft
- 2sa. it
. 0.5sq. ft
L 3sq.ft

Question Number : 148 Question Id : 3365711348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The presence of this vitamin in feed is compulsory to prevent cage layer
fatigue in Chickens.

TYS’ 325 Sanb ae3h QB TRErRS D B))AVOM™ &GOwPd

Note: For this question, discrepancy is found in question/answer.

So,this question is ignored for all candidates.
Options :



Vitamin-D

| DEIDS-Co

Calcium

@)aho
2. =

Phosphorus

SPGB
3. )

All of these
BODD Q)
4.

Question Number : 149 Question Id : 3365711349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which among the following does not contain crop

53 808 35" Se3S5° 28 &0

Options :
Emu

1. v 833D

Turkey
&0),

2. %

Duck
8

3. %
Quail
L §£mje§

Question Number : 150 Question Id : 3365711350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Collecting semen from male chicken is called

5 & X006 HogR) DEBOBTAE D0
Options :

Hatching
| % SPD0H

Brooding

- 2200

Milking
y &)0h

3.
Candling
52506600

4. %



